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O4EE Ol TIER S
10,000,000, 0002 2%+ 10/ 12 166,667
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og2susy 81,6602 72462 4,573
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01 Al el 7,200 700 6,500
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SN

NIE=DATSINI;

g o ARl Ol Xl 2kl

Cigl LT S0l oHEE P (e e
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
ORINER MR 20,0002 + 122 240
CIEY] 500
OMSREZZAAN A2 85 7Y
500,000 500
OAIE&EHIKXIH] 200
OlLts#ueas SX24)
900,000 900
202 04| 1,000 1,000
01 2yl 1,000 1,000
S0 A 1,000 1,000
o322 0| 1,000,000& 1,000
308 AXIHHMSOIA 5,940 5,616 324
13 SIIZASHUSEAERAE AN 5,940 5,616 324
=01 A 5,940 5,616 324
OIIACHED|D| B2 A
55, 000& *540 Al CH*20% 5,940
LPGED| AFEIT AIEINE AL 1,800 1,126 674
= 900
Al 450
- 450
308 AXIHHMSOIA 1,800 1,126 674
= 900
Al 450
- 450
13 BI |2 SOHHESHE A S E A B 1,800 1,126 674
= 900
Al 450
- 450
S0 A 1,800 1,126 674
= 900
Al 450
- 450
OLPGEI| A2t AIZIHE AL
225,000 *x8J++ 1,800
= 900
Al 450
- 450
SHE B2 XA 152,320 128,856 23,464
Al 112,320
- 40,000
402 QIZERFE0| A 152,320 128,856 23,464
Al 112,320
- 40,000
02 BIZIXIEAIH B (0I ™ THL) 152,320 128,856 23,464




2AM:

X ZH -
o=

ZHLXtel ot
SHE X0l Ol Xl 2l

Cigl LT S0l oHEE P (e e
S - B S(SH) - NISAY - BAS S SR HIDS2
Al 112,320
- 40,000
201 & 152,320 128,856 23,464
Al 112,320
- 40,000
OS4E B FEHTRAMS
3,808,000 x40t 152,320
Al 112,320
- 40,000
FAHS HUXEES HEAIS 5,000 0 5,000
= 3,500
Al 750
- 750
401 Al HIZ SCHYI 5,000 0 5,000
= 3,500
Al 750
- 750
01 Al&H| 5,000 0 5,000
= 3,500
Al 750
- 750
201 & 5,000 0 5,000
= 3,500
Al 750
- 750
OFHAAZ UK S2 HLALS
5,000,000& 5,000
= 3,500
Al 750
- 750
ATHAMHUHK SRR AL 690,624 0 690,624
= 291,859
Al 398,765
401 Al HIZ 20HYI 690,624 0 690,624
= 291,859
Al 398,765
01 A&t 690,624 0 690,624
= 291,859
Al 398,765
=04 & 690,624 0 690,624
== 291,859
Al 398,765
OAITHAOIL X S=SEXIZ ALY
690,624,000 690,624




A ZML XDt
M QA Ol Xl 2t

=Sl UK ==2 otEE 22| (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 291,859
Al 398,765
S0l MEA D8t 2= 1,917,078 1,565,533 351,545
JIgs)| £2 3 1,450,446 1,100,376 350,070
S| LAY 9,340 9,540 A200
201 et Y| 7,340 7,340 0
01 AtS2teltl 7,340 7,340 0
=0 A 7,340 7,340 0
oget=2H| 5,800
O8==8 M= 50,0003 =84 400
OS=J1ge &I ME
100,000 *6IH 600
OS2I KIJAAIR OHLY 2RI+ HIZE
12,0003 5052 600
OSSN EHE 23 3loktz
HI= 12,0003 202 240
Ost=I|g0I0IH AdE ME =28
330,000 *12& 3,9%0
o2g+y 1,540
ONEANLELY SHHAS BHIY
70,0003 * 11 +23] 1,540
202 04| 500 500
01 2L 500 500
=0 A 500 500
o220l 500,000 500
203 SR F&| 700 00 A200
03 Al FRIHRFAIY| 700 900 A200
=0 A 700 00 A200
O=AJIY Gdst X RFH
700,000 700
206 MZ 4| 800 800
01 M=l 800 800
S0 &t 800 800
OLIHEX 3 2t 800,000 800
sS40 Jl= K3AS 500,000 400,000 100,000
308 XSOl 500,000 400,000 100,000
13 S| 2SHICHsHE & X2 E ALY 500,000 400,000 100,000
S0j &t 500,000 400,000 100,000
O=2JIY 8% XAAY 500,000,000& 500,000
S0 X2 KA 930,000 680,000 250,000
307 2IZ2t0|A 900,000 650,000 250,000
08 OIXI2EXNZ 900,000 650,000 250,000
=0 A 900,000 650,000 250,000
S0 JForEN= OIMEEZ 900,000
Q2028342 0|X2& =
15,000,000, 0003 3% 450,000




SA: MLt ot

LIPS

2
J
=
4
gl

cigl: JIYshl ES BAXA (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
O2024E 2 0IXE2& =2
15,000, 000,000 *3% 450,000
308 AHXISHMSOIN 30,000 30,000
13 S| 2S0ICHetE & X2 E ALY 30,000 30,000
S0 &t 30,000 30,000
O=A0|18 ZFetERZz XN#A
15,000,000,000& *0. 2% 30,000
HZESHM AEHEA F& 11,106 10,836 270
101 Q1244| 11,106 10,836 270
M It 22 sE 11,106 10,836 270
S0/ & 11,106 10,836 270
OMZES AMEIZAHRIZ) 11,106
oJles 81,660 x8H+ 17! 11,106
EX1E =X 206,200 206,900 AT700
ENsX s 6,200 6,900 AT00
201 det2AH| 5,000 5,000 0
01 AtR2t2lt| 5,000 5,000 0
204 & 5,000 5,000 0
OYEt=EH| 2,200
OFXN=X 28 &8 H&
50,0003 8K 400
OFEXNRX 22 MA HEH
4,000& *450% 1,800
o2g+Y 2,800
OFA=XAAS SN
70,0003 *10Z *43| 2,800
202 04| 1,000 1,000
01 =LH4b] 1,000 1,000
S0 &t 1,000 1,000
O22 04| 1,000,000& 1,000
203 RF=&H| 200 00 AT700
03 AMEFRHRFZIY| 200 00 AT700
S0j &t 200 00 AT700
OF|gE #ilgs gR=X
200,000& 200
EXsX K& 200,000 200,000 0
307 2I2t01A 200,000 200,000 0
02 RIZHBAANEE L 200,000 200,000 0
20 &t 200,000 200,000 0
OEU=EL= 0IXEES 100,000,000& 100,000
ongLxa3 60,000,000& 60,000
oNMIIeE XAZ3 30,000,000 30,000
OHZIH K23 10,000,000& 10,000
SARIEOl Mo AMESH &4 260,432 258,257 2,175
SAMOIEES 29 11,859 14,642 N2,783




SN

M Xtel 2

=

Za: sA0|eio] YA Jlu 18
o2l SAIRIEO| Mote AMESH A4 (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
201 LEt23d| 9,859 11,792 21,933
01 AtR22teltl 9,859 8,060 1,799
S0 &t 9,859 8,060 1,799
Ogst=Z| 1,340
O3l kts MZ 7,000 *43] x30H 840
Osl+=9 & 50,0002 107 500
o=2g+Y 4,592
OZAIIEARE S &4
70,000 *7H *80%*43] 1,568
OF ALkt HLSELEs oG
70,000 *7H *80%*23] 784
OLACIEEOg A
70,0003 *20H +80%+23] 2,240
Ozel=Z9| 3,927
OLAMBIEES 3 EHOIX |2
327, 2503128 3,927
202 O4H| 1,500 1,500
01 =LHOH] 1,500 1,500
20l & 1,500 1,500
o220yl 1,500,000& 1,500
203 R=EH| 500 1,350 A850
03 A EFRHRFXIY| 500 1,350 A850
20i & 500 1,350 A850
OLAZIE AMES X4 AIZFA
500,000& 500
NS SARIE gE2gdst N3 2,500 2,500 0
201 Ler23d| 1,500 1,500 0
01 AtR22telt| 1,500 1,500 0
20 & 1,500 1,500 0
Oget=2H| 1,500
OAMS &2 M HIZ
100,000 =153 1,500
301 Let8dZ 1,000 1,000
11 HALAHIX RS2 1,000 1,000
20 & 1,000 1,000
O AIZIE As, AlaAl S ZHOAL bl
1,000,000& 1,000
S0 AILIREEH 29 3,600 3,600 0
201 Ler23d| 3,600 3,600 0
01 At22teltl 3,600 3,600 0
20i & 3,600 3,600 0
oget=2H| 3,600
OLs2HY AT M
6,000 *600A 3,600
HEAE “SXA2HEH 28 146,241 143,150 3,091
307 QIZt0| A 146,241 143,150 3,091
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ML Xt ot

Hu: WAEM o2 X
Cel: HEEM &0 243 (&
S - B S9(3H) - NSAY - BES S SR HDS2
-M 20,0003 » 125 A 240
-A3 21,0003 38 A 63
O&Y 160,000 *6IH %60
ORo1gdy| & Z2E2e| =2
100,000 =123 1,200
OHUENEZ2 222 ME S
1,000,000 1,000
Od4A 9E DT )8 29 5,840
OF4E FHg UE 2148 2,240
-0 5 50,000 x8I x23] 800
-wi & 2 P2
10,000 *12Z*123] 1,440
OFYE XA EAA(flex) S 3,600
- S 50,0002 *8IH*63] 2,400
- 2 2 P2
10,000 *10¥*123] 1,200
02 323l 8,200 0 8,200
20 & 8,200 0 8,200
(©FSINEEL =] 1,000,000& 1,000
023232 % HA 7,200
OdI 2 =3 550,000& *12& 6,600
o83 50,0002 12& 600
301 Let8dZ 11,460 11,460
14 J|Et2 &2 11,460 11,460
S0 &t 11,460 11,460
OFEY 9UE T2 2Y 9,9%0
O&Y FHg s 248 4,440
-2Ate ¥ L8|
370,000 x6 2 23] 4,440
OFYE XA EAA(flex) S 5,520
~-LAE 230,000 x22+123] 5,520
OXHASAHAL &I
10,000 3«2 +25 2«33 1,500
8 58 Y oS 1,804,084 1,808,893 24,809
= 15,195
Al 1,077,293
- 711,596
MM SXE e LRl BHE 1,804,084 1,808,893 24,809
= 15,195
Al 1,077,293
- 711,596
FY =HIdEYE L= WX XA 49,911 44,760 5,151
Al 10,381
- 39,530
201 LEt23AH| 26,301 25,960 341




=N

HH: D= &3 Y oy
Ciol: MAE =XZ 93 ANl BE (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
01 AtR2teld| 26,301 22,000 4,301
S0 A 26,301 22,000 4,301
OZ2e|29| 4,301
OFY 2 IWI|X EHO0IK A2
358,340« 12& 4,301
Oodd g X X 22,000
OHEEE o Z 60,000& *350%H 21,000
O=22 H& & 1,000,000& 1,000
301 YEBNZ 23,610 12,000 11,610
Al 10,381
- 13,229
03 AFSI2 & & 461 2 (K2 THH) 23,610 12,000 11,610
Al 10,381
- 13,229
S0 A 23,610 12,000 11,610
Al 10,381
- 13,229
OAYE =2 mWI|X XK (AHl) 16,610
OXN2ZANE SAE K& 16,610,000& 16,610
Al 10,381
- 6,229
Ox4E 22 2K K& 7,000
OFHA 20,0002 *100H 2,000
Odllo] - o2 50,0002 *100H 5,000
3= st OF=HI0IE 69,000 66,000 3,000
Al 55,200
- 13,800
101 o12AH| 69,000 66,000 3,000
Al 55,200
- 13,800
M4 J12ZtH 22 sEE S 69,000 66,000 3,000
Al 55,200
- 13,800
=0 A 69,000 66,000 3,000
Al 55,200
- 13,800
OZ2Z & OIZ2HI0IE 21|
2,300,000 *30H 69,000
Al 55,200
- 13,800
AT SEAIRHEH 2H 24,853 24,003 850
201 LEt2AH| 22,293 22,293 0
01 AtR2teld| 13,293 11,073 2,220
=0 A 13,293 11,073 2,220




FA: MLt ot
ol

HH: D= &3 Y oy
ohelr MAE =SXE e LAtel & (e
S - HY . O9(3) - HISAY - BA= S SR HI DS
OHIEe 24| 6,913
OJIZARES 300,000 300
OSAEX 413,000& 413
O3S YA 215K 200,000& 200
Ozef=ZelH EY 300,0002 *44 %13 1,200
O4die =22 MZ 3,600,000& 3,600
Ofoldy| & Z2ei2e| =2
100,000 =123 1,200
ogiiel B3 g2= ME 1,600
OclE&! M= 2,000 *200Z& 400
QNI M= 1,200 *1,000& 1,200
OLR2IBAIH SR F&H 1,000
O3AINH 28 Xz & M2 HE S
1,000,000& 1,000
ogxtz 1,560
OS A Xt 90,000 x12& 1,080
OF=I| Xt 40,0003 123 480
O HE CHHAIAE(I2AT) 2,220
(@ISIN=ES 150,000 =123 1,800
OstRa 35,0003 12& 420
03 A2 FH| 9,000 9,000
20/ & 9,000 9,000
Ol JHS A} 9,000
OgXtel=eEsl I 9,000,000& 9,000
202 O4H| 1,000 1,000
01 =WHHI 1,000 1,000
=0l & 1,000 1,000
o220yl 10,0002 +2H *10 +53| 1,000
203 JR=&H| 1,200 350 850
03 Al FRIHRF=XIY| 1,200 350 850
20l A 1,200 350 850
ONMESEHAN S LRI HRFX
1,200,000& 1,200
301 YeBHEZ 360 360
14 J|Et2 43 360 360
20/ & 360 360
O™AL KRS AHAF &H| 360,000 360
SZRE HIERA 224 R HME 1,640 2,820 A1,180
201 Ler23d| 1,640 2,820 A1,180
01 AtR2teltl 1,640 2,820 21,180
=04 & 1,640 2,820 21,180
Oget=ZH| 240
O¥% ME o3 29Y9 240
-&lo] M+ M 12,0003 *20 13| 240
oO2I+Y 1,400




=N

HH: D= &3 Y oy
Ciol: MAE =XZ 93 ANl BE (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OFRZ Mat go|g| &AL
70,000 x 1024 23] 1,400
S22 ALY 840,180 840,180 0
Al 583,126
- 252,054
101 2124H| 831,680 831,680 0
Al 582,176
- 249,504
M JI2tH22sES 831,680 831,680 0
Al 582,176
- 249,504
=0 A 831,680 831,680 0
Al 582,176
- 249,504
OZ2Z22ZAIY 22X QlAHHl Y 404 &
= 831,680,000 831,680
Al 582,176
- 249,504
201 LEL2AH| 1,500 1,500 0
Al 1,050
- 450
01 AF22telt]| 1,500 1,500 0
Al 1,050
- 450
=0 A 1,500 1,500 0
Al 1,050
- 450
OLbt4=Z2H| 1,500
O =8 HI& 50,0002 x100H*33] 1,500
Al 1,050
- 450
202 04| 2,700 2,700 0
Al 1,890
- 810
01 =Wyl 2,700 2,700 0
Al 1,890
- 810
=01l A 2,700 2,700 0
Al 1,890
- 810
o208l 20,000 12 x 10 x12& 2,400
Al 1,680
- 720
O2t2| 04| 300,000 300




=N

HH: D= &3 Y oy
Ce. MMM SXE st L2l &= (&9 &
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
Al 210
- 90
206 =4I 4,300 4,300 0
Al 3,010
- 1,290
01 M= 4,300 4,300 0
Al 3,010
- 1,290
S0 A 4,300 4,300 0
Al 3,010
- 1,290
OZ2Z22=2 A XHH 2 4,300,000 4,300
Al 3,010
- 1,290
NNHAZSH LXCIAI (HEALS) 404,782 404,782 0
Al 303,586
- 101,196
101 el24H| 387,526 387,526 0
Al 290,645
- 96,881
4 J1I2ZtHI22NsSE s 387,526 387,526 0
Al 290,645
- 6,881
=0 A 387,526 387,526 0
Al 290,645
- 96,881
OXNEZSHAIY 22X 2124d]
387,526,000& 387,526
Al 290,645
- 96,8381
201 LB AH| 1,000 1,000 0
Al 750
- 250
01 AF22telb| 1,000 1,000 0
Al 750
- 250
S0l A 1,000 1,000 0
Al 750
- 250
Ogbt4=-2H| 1,000
O =8 HI& 50,0002 23| * 101 1,000
Al 750
- 250




=N

HH: D= &3 Y oy
Ciol: MAE =XZ 93 ANl BE (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
202 04| 800 800 0
Al 600
- 200
01 =LHOH] 800 800 0
Al 600
- 200
20 & 800 800 0
Al 600
- 200
O&UoYI 20,0003 x2H*203] 800
Al 600
- 200
206 MHZH| 15,456 15,456 0
Al 11,591
- 3,865
01 M=l 15,456 15,456 0
Al 11,591
- 3,865
=0 A 15,456 15,456 0
Al 11,591
- 3,865
OXNSSSH At RHHF L
15,456,000& 15,456
Al 11,591
- 3,865
KL arES TURISHH S2AIS (HEANY) 150,000 150,000 0
Al 120,000
- 30,000
307 QIZ2t0| ™ 150,000 150,000 0
Al 120,000
- 30,000
02 RIZHBAANEE L 150,000 150,000 0
Al 120,000
- 30,000
S0 &t 150,000 150,000 0
Al 120,000
- 30,000
OXNGAHUAEE AR EHEAS
150,000, 000& 150,000
Al 120,000
- 30,000
8T 2HE 29 41,163 42,783 21,620
201 et | 14,103 15,423 21,320
01 AtR22t2ltl 14,103 15,423 21,320




=N

M. g SR Y oA
ol AR =XIE 93 UXel BE CLELE
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 14,103 15,423 N 1,320
OHIE{ "] 4,693
OJISBMNEES 300,000 300
O=AEX 413,000 413
OZZele EY 300,000 *4AHx15] 1,200
OHdIH EEZ2 HI& 2,000,000 2,000
OB 2 HA RIZ
86,0002 x65 x5 180
OAZHOIA (=R E) 3,000 *200H 600
OEIAX MOHAEH =20 1,800
O848 H& 50,0002 *8IH*33] 1,200
O M= 10,0002 202 %33 600
OE&AX FHEXR T2 6,050
O =8 HI& 50,0002 *8IH*33] 1,200
O M= 10,000 202 *33] 600
OLASHM Aol = 250,000 250
ONEDE WM 7
200,000/ x10H 23| 4,000
OUX= 1,560
O=AD| Xt 90,0008 x12& 1,080
O&FD| At 40,000& = 12& 480
202 04| 300 300
01 2yl 300 300
S0 A 300 300
o220l 300,000 300
301 YBE M= 20,760 20,760
14 JD|EIE2 A= 20,760 20,760
S0 A 20,760 20,760
OEIAX MOHAEH =20 11,940
OEA= 350,000 x104*33] 10,500
O2 AL AlH|IZ At 60,0002 x8 2 *33] 1,440
OE&X FHEXR T2 8,820
O2ZAIE 300, 000& 92 *33] 8,100
OZAF AHI24t 60,0002 x4 24 *33| 720
307 QI2H0| & 6,000 6,000
12 QI2H0IE = H| 6,000 6,000
=0 A 6,000 6,000
OE&X HEXH MBI W=
6,000,000 6,000
AsyE ZEE ARl AN 30,390 0 30,390
g 15,195
- 15,195
101 2124H| 30,390 0 30,390
g 15,195




A ML

FSE= M
A

ol AAL

o
40
c
[0

SN - O9(BIH) - NIRAY - BAS (ggj) aﬁiﬂgﬂ D=2
- 15,195
M4 J12ZtH2EHsEE S 30,390 0 30,390
g 15,195
- 15,195
S0 A 30,390 0 30,390
g 15,195
- 15,195
ojRlsydE ZEE Xl elAH|
30,390,000& 30,390
rag 15,195
- 15,195
AIS| 2SS XIS (HEAY) 62,165 62,165 0
307 21Zto| ™ 62,165 62,165 0
02 QI2IAAAIDE T 62,165 62,165 0
=0 A 62,165 62,165 0
OAISI 28 ES XA (HEAS)
62, 165,000& 62,165
220122 X KI&AIS 30,000 30,000 0
307 2Iz2to|™ 30,000 30,000 0
05 DIZIRIEZ 30,000 30,000 0
=0 A 30,000 30,000 0
OAHZF= =20 22X+ XJAS
30,000,000& 30,000
D20t HHIHES WHIIX K& A 100,000 100,000 0
301 LEE M= 100,000 100,000 0
14 JIEIE A2 100,000 100,000 0
=0 A 100,000 100,000 0
OMNSX 2238y NgE&HA=2
4,000,000 *x25H 100,000
NESsH JMELEF 585,990 997,688 A411,698
g 345,000
Al 135,000
- 105,990
AS EEH &35} 464,540 894,760 A430,220
g 345,000
Al 115,000
- 4,540
AN EDISE FHAY 463,990 864,210 N400,220
g 345,000
Al 115,000
- 3,990
201 LBt A 1,890 1,890
01 AtR2teldl 1,890 1,890
=20 A 1,890 1,890
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A MLt ot

M NE3SH SHELS
SHelr A EZH A st (ct9: &2
S - B S9(3H) - NSAY - BES S SR HDS2
01 ZLHO4H] 300 300
=0 A 300 300
o220l 150,000 x1H 22 *13] 300
NEsSH 24351 121,450 102,928 18,522
Al 20,000
- 101,450
SSH 0SS At 121,450 102,928 18,522
Al 20,000
- 101,450
201 Ler23d| 5,300 6,778 AN1,478
01 AtR22teltl 5,300 3,500 1,800
20 & 5,300 3,500 1,800
Ogst=2H| 2,300
o8 g8 g9 ME 50,000 *8Z& 400
O=2s S 24 100,000& 100
OS2AIE AAF B OIM
20,0002 30 600
O3SHl OI20t=D] AIE 220N
Ol 4 40,0003 302 1,200
o2g+Y 1,200
OXNS=SSHELFAASG ALY
100,000 & 6% 23| 1,200
oaelE9| 1,800
O=+ 0t=8t=J] EHOIX FX 2=+
150,000« 12& 1,800
202 04| 1,000 1,000
01 2L 1,000 1,000
S0/ & 1,000 1,000
o220yl 250,000 =2 23] 1,000
301 detENZ 3,150 3,150
11 HAAHIKIE S 3,150 3,150
20i & 3,150 3,150
O« &KX Ast &I Kbl
210,0002*x15H*13] 3,150
307 Q120 A 112,000 92,000 20,000
Al 20,000
- 92,000
02 BIZHABAAIEE X 92,000 72,000 20,000
Al 20,000
- 72,000
20 &t 92,000 72,000 20,000
Al 20,000
- 72,000
OA S5tz OI22S)| B2AHE 92,000




2AMd: ML 2t
M XNEZ2SH JHEHS
Cigl: NGZEN 243 (e e
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) 5(3@‘% HD=E2
OEEest 0|R8HED| AMY
3,000,000 *201 &~ 6,000
OaAs SUIBHSD| ALY
6,000,000 8 &~ 48,000
OEEE 0ISCHED| AMY
9,000,000 *20 &~ 18,000
OAMSEAHMPOIFHIOIE Al
10,000,000 *201 A&~ 20,000
Al 20,000
12 QI2H0ILIE = H| 20,000 20,000
=0 A 20,000 20,000
OZ2sH 020D s /=9
20,000,000 20,000
SHHSAAH| (P ML Xt ) 465,370 462,671 2,699
ol =AY 393,720 380,521 13,199
olea=2HH| 393,720 380,521 13,199
101 e124H| 393,720 380,521 13,199
01 B 99,998 104, 121 N4, 123
=0 A 99,998 104, 121 N4 123
OA|22 =& 12,5312 19«35 A| 2Hx 12& 99,998
02 JIEI& 24 293,722 276,400 17,322
=0 A 293,722 276,400 17,322
oJl=2 226,329
OLSEL(AIZHHER 62 A
4,413, 7582 x 1% % 12& 52,966
OF AL STHAHUXIA (AZHHERH 92
=) 2,454, 6753« 1« 128 29,457
OLXZIZE X KAHE (AZHHERH 92
ALE) 2,601,550 2% « 128 62,438
OEI R TR HE (A ZHHERH 82 AtE)
3,3%, 450« 1S« 128 40,734
OOISCHED|(AZHSIERR 882 AE)
3,3, 4552« 1S« 128 40,734
OIELE 4 560
OLSEZ (AIZHHEH 62 AH) 480
=N 40,0003 x1Hx12& 480
OLXEIZE XK HE (AFHERH 9=
ALE) 2,830
=Y 40,0002 x2Hx12& 960
—HoIE(8E L HMAH)
20,0002 x2H x 128 480
-S2IIE(SMAE)
60,0002 x2H % 12& 1,440
OEI R TRKAHE (AZHHERH 82 At 720
B Xt 40,0002 x1Hx12& 480
—HoIE(82 L HMAH)
20,0002+ 1H~12& 240
O0ISBHED| (A2 BT 82 AY) 480
-“HoIE(8R) 20,0002 2« 12& 480




2A: ZHLXte| Bt
M. HY2AZUI(FH LX)
ciel: olte ) crel &
OH
S - B S9(3H) - NSAY - BES S S =2
OXZEZH| 11,918
OL-SEZ(ANZHER 63 AL
250,000 *35/40% 18+ 12& 2,625
OF UL SKALX A (AZHIERT 92
A 175,000 *35/40% 18« 12& 1,838
OL X2 BERHE (AL ET 95
A 175,000 *35/40x2 B« 12& 3,675
OEIA XA HE (AIZHEEH 82 AH)
180,000 *35/40x1H * 12& 1,890
ODIE2USII(AIZTHE R 82 &L
180,000 *35/40% 1 = 123 1,890
OFMZAlY| 10,080
OLSEE(AIZEEH 62 &)
140,000 x 1Y+ 12& 1,680
OF U SKAHLX A (AZHIET 92
Ag) 140,000 x 1Y+ 12& 1,680
OISR AHE (AZHIET 92
ag) 140,0002 x2H +x 12& 3,360
OEIAT XS HE (AZHIERT 82 A
140,000 x 1Y+ 12& 1,680
OOI2oHSD|(AlIZHIE R 82 AE
140,0002 x 1Y+ 12& 1,680
OxN=22Y 25,924
OL-SSEB(AIZEEH 62 &)
12,5313 *35A 2t 1B+ 12E 5,264
OF U SKAL XA (AZHIERT 92
A 9,620 x3bA| 2+ 1H*12& 4,041
OL eI SEXAHE (AZHIERT 93
AY) 9,620 x35A| 2Hx2H * 12E 8,081
OEIAT XA HE (AZHIER T 82 &)
10, 1622 *35A| 2t 1 = 12& 4,269
ODISASI(AIZHHE R 82 &)
10, 1622 *35A| 2t 1H = 12& 4,269
OE+ARFY 10,367
OL-SEE(AI2HEET 62 &)
211,860 x 1Y+ 12& 2,543
OFU=SKAHLX A (AZHIET 92
ag) 117,824 x 1Y+ 12& 1,414
OL X2 XS HE (AZHIER T 92 &)
115,205 x2H + 12& 2,768
OEIA XX AHE (AIZHEEH 82 AH)
151,6692 x 1Y+ 12& 1,821
Ol 2USII(AIZIEE R 82 &)
151,6692 x 1+ 12& 1,821
O I 2 4| 4,544
OLSSEE(AZHEH 62 &)
4,413,758 2 x84%+86%+ (1/30)*(1/7)*70A| 1,063
1%
OF U SKAL XA (AZHIERT 92
kg
2,454,675 x84%*80%+*(1/30)*(1/7)*70A| 592
2bx1%




M UMLKY
M. HY2AZUI(FH LX)
ciel: olte ) (el me
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
OL eI KIS HE (AZHIER T 92 A
2,601,552 x84%+86%*(1/30)*(1/7)*70A| 1,253
2h2ed
EIXI X 2 HE (Al ZHS T B2 AID)
3,394, 4502 x84%*86%+* (1/30)*(1/7)*70A| 818
2l
ODIE2ASIN(AIZHEE R 82 &)
3,394, 45521 x84%*86%+* (1/30)*(1/7)*70A| 818
2h]
o=l 71,650 &2, 150 A10,500
Jl=Z| 71,650 82,150 210,500
201 LEr23d| 28,750 28,750 0
01 AtR2teltl 28,750 28,750 0
201 & 28,750 28,750 0
Oget=2H| 4,750
OJ|2ARES 7
5,0002 19123 1,140
OZeZey Y 300,000 4 S 13| 1,200
OSAIEXI(A) 20,0003 x80 A 1,600
RIEP=ER 15,0002 x35+12& 540
OYA MIEHI 3,000 *20 01 23] 120
OIS, M4, T2l S 22yl
150,000& 150
O=&Hl 24,000
OJ|2gRF8 24|
8,000 x19H 10! =123 18,240
OAIRHEEH 2I1H SRF& S 4|
8,000 x6H 10 x 12& 5,760
202 O4H| 30,000 48,000 18,000
01 =LH4b] 30,000 48,000 18,000
S0 &t 30,000 48,000 A 18,000
OJI2HRFE 2UH=E0YI
20,0003 #1952« 12& 22,800
OAZHEEH DMl 2HLHSE 0]
20,0003 ~6H 52 12& 7,200
203 HRF&d| 7,500 4,200 3,300
01 J| 229 PR F=&| 3,300 0 3,300
SH=SO0IH 3,300 0 3,300
M EASIHRFA 4,200 4,200 0
20i & 4,200 4,200 0
©@2592!1 0|5t 350,000 12& 4,200
204 XA 5,400 1,200 4,200
01 AMZ AP AL 5,400 1,200 4,200
204 & 5,400 2,400 3,000
Ou+E 100,000 x12& 1,200
SH=0IA 5,400 1,200 4,200




